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Eli Goldratt developed 2 scheduling approach, theory of constraint (TOC). He reasoned the output
of the system was limited by the output of the bottleneck operation(s). The idle time of
non-bottleneck operations was not a factor in overall productivity of the system, as long as the
bottleneck operations were used effectively. Therefore, he used a drum-buffer-rope |
conceptualization to manage the system. Explain how the “drum-buffer-rope” does work? (15
points)

wxzEm (15 &)

The Pinstar software Co. wants {0 schedule five new projects efficiently. Below is a detail table of
the projects. Sequence the jobs using shortest processing time (SPT), and earliest due date (EDD)
rules. Provide your recommendation as to which rule is better by examining the total tardiness,

number of job tardy, and mean flow time to measure the rule’s performance. (15 points)

Estimated Processing
Project Time (days) Due Date
A 12 18
B 6 10
C 4 7
D 5 12
E 8 30

#Aan (10 2

Below is the frequency of breakdown of a machine per month. Repairs cost an average of $1,100.
A service firm is willing to provide preventive maintenance under either of two options. The first
option is $1,800 and covers all necessary repairs, and the second option is $1,350 and covers any
repairs after the first one. Determine the expected costs that pay for all repairs, the option 1 and

option 2 services. Should the manager adopt preventive maintenance service? If yes, which option
would have the lowest expected cost? (10 points)

# of breakdowns/Month 0 1 2 3 4
Probability of Occurrence - 0.2 0.3 0.3 0.1 0.1
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